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4a

Shou,that heat and work is a path lirr,ction and not a propcrty of the systent.

What is quasistalic process along with its featurcs?

OR
Irxplain about tl.rennodynat.r.ri cs eq ui I i brium.

Explain the dilferences between open systetl and closed system.

luNrr-rI
Ilxplain reversible and irreversible process.

State the second law o1'thermodynamics clearly.

OR
During a cycle consisting of four processes, the heat transfers are as following.

Ql : +60KJ, Q2 : -40KJ, Q3: 15KJ, and Q4:-20K.I, Determine the net work
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done by the system.

b Explain about the heat engine in dctailed lranner.

State Avogadro's law.

State the ideal gas equation cleally.

OR
One kg of air in a closed systetn, initially at 5oC and occupying 0.3m3 volumes,

undergoes a constant pressure heating process to 100"C. There is no work other

than pdv work. F'ind (i) the rvork done during the process, (ii) the heat transf.erred,

and (iii) the entropy change of the gas.

Draw P -V and T-S diagrams on Isochoric proccss and isobaric process with

dcrivc thc (i) work donc (ii) hcat transfcr (iii) intcrnal cncrgy.
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7 a Air in a closcd stationary system expands in a reversible adiabatic process from 0.5 L3 6M
MPa, 15oC to 0.2 MPa. Find the lrnal ten'rperature, and per kg of air, the heat

transferred, and the work done.

Explain Limitations of Carnot cycle.

OR
Explain the P-V. P-T, T-S diagrams of Pure Substances

Derive an expression for thermal efficiency & mean effective

combustion cycle by drawing PV and'fS diagrams.
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